Quf-q 4 }"{c_‘v]en'ur); CCus
’{.29“)&4()\1( 103 s.c;,)"cs Siofeman c/(
ecvacones  par el medodo de igualacs,

Qfx +49 =3

RS

b'&_(zy4s~g:—4
Sx -2y =M
z‘:h( 124 25

L'7@r }sq=16
Solucion

(X + Y =3
q'\\f -4 =9

X A3 Cx,4)z: (4 2)
KN e 42 -3
SENESIS (1‘;"1
- =Y .3
| I+ (3-3

- EX 4 | ‘ 1"1:—‘7
X.2-7T 42 ‘ |
ok B R /= (?%,fj):.(ﬂ,l)



/
|
\

3. 5» Xﬂ\?-—zy = -4

;'Z%'-%s-j S|
T

FEixl ATy e
E.‘ZX.f'BX /5 .

3 o
A
!Lb(,j')‘—‘-(_',% =
{ il | 3

| 27‘(‘ %‘)-}—bxi:-"f
L -

- AR
L3 X (-2) kg 2 =T

el (x.9)-(3-%)




1

|

3
<
|

{ |

EEExELS

AN

o
=

|

)2y

T

|

ﬂ&&@w

3(-

|
[
|
T
|

]

! {

toa y 1
| |

! = 3

b -

i

i

-
|

o S — *

...... _ |

|

. = e »4 ==

| !

| {

I |
| D (S s [ [ S

|

|
\
|
\
|
|
|
!
|

?}5x3

rTARRNRE

-
-

(-1

LY

16216




